1/od?/ dp™dm™M1/Gevd

Ratio to ATLAS

13000 GeV pp tt
| : | : | : | : | : | : | : | : | : | : |

ptTOp (ATLAS semileptonic ttbar)

=
o

&
T

Rivet 3.1.10, = 2.4M events

T

D

H
S
(]
T
-
& |

mcplots.cern.ch [arXiv:1306.3436]

m ATLAS
S —A— Pythia 6.428 370
10" £ --%-- Pythia 6.428 378 =
L Pythia 6.428 379 ]
_l | | | | | | | | | |
= ' ' ' ' | ' ' ' ' =
2 F =F:
1H 1
05 — —0.5
| . ! . ! . ! . ! . | . ! . ! . ! . ! . |
0 500 1000

tbar{t

ptT’had [GeV], m " ‘}in [700,1000] [GeV]



	Contents
	Page 1


